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AN F2MEX
Ha: R0 ZMBEIY 23
el NASS A= X2 (A2 E2SHISELIA) (el =@
S BB SA(BH) - MEAMY - BHES 0f & o8 plEL" HIDS2
= QI 2T 2 2,555,000 2,650,000 295,000
= 357,504 357,504 0
= 89,376 89,376 0
Al 2,108,120 2,203,120 A 95,000
S =MEEHH L5 2,543,714 2,641,776 A 98,062
= 357,504 357,504 0
= 89,376 89,376 0
Al 2,096,834 2,194,896 A 98,062
HASE A2 XA (A2 ESHISESA) 2,543,714 2,641,776 A 98,062
= 357,504 357,504 0
= 89,376 89,376 0
Al 2,096,834 2,194,896 A 98,062
2SS0 JISZEAMY 2,096,834 2,194,896 A 98,062
308 UHXIEHSOIA 2,096,834 2,194,896 A 98,062
05 UHXEHH2EES 2,096,834 2,194,896 A 98,062
[ A2 =0 Al AMBIREE3 2 & 2,096,834,000& 2,096,834 2,194,896 A 98,062
HRaes(= M) 11,286 8,224 3,062
BHINE(YAEESSLEIA)NASESHISLEIA) 11,286 8,224 3,062
BHEIE(A=ZE2SSEIH) 11,286 8,224 3,062
802 Et& =2 J| Et 11,286 8,224 3,062
03 UL3E 11,286 8,224 3,062
O o9dz23713 0l k= 2 & 1,450,000& 1,450 800 650
[0 20128 = =MAHLAHZ 2% 5,736,990& 5,737 3,324 2,413
O ol RHd0IS= Bte Z2& 1,999,000& 1,999 2,000 A




